MathVine - Pre-Algebra

Variables on Both Sides

Solve for X.

1) 40 —3 = —bHx — 21

4) bx = —4x + 36

/) —3x+2=—-4x+4

Name

Date

Period

2) 4o = —-3x— 7

S z+1=3xz—-3

8) —bx = 3x + 32

3) —z=-2x—-1

6) —x+3=4x — 17

9) S5z = —3x — 32



MathVine - Pre-Algebra Name

Variables on Both Sides Date Period
Solve for X.
1) 40 — 3 = —Hx — 21 2) 4o = —-3x— 7 3) —z=-2zx—-1
[ Answer: —2 J Answer: —1 J [ Answer: —1 ]
4) bx = —4x + 36 5) z+1=3x—3 6) —x+3=4x — 17
[ Answer: 4 ] | Answer: 2 } [ Answer: 4 ]
7) —3rx+2=—-4xr+4 8) —bxr =3x+ 32 9) b = —3x — 32
[ Answer: 2 J | Answer: —4 J [ Answer: —4 1

MathVine - Pre-Algebra Name




Variables on Both Sides
Solution Steps

1) 40 — 3 = —bx — 21
4r — 3= —bx — 21

+5r =+4bx
9r —3=-21
+3 =43
9z =—18
/9 =/9
T =—-2

4) bx = —4x + 36

S5 = —4x + 36
+4r =+4x

92 =236

/9 =/9

x =4

7) —3rx+2=—-4xr+4
—3r+2=—-4x + 4

+4x = +4x
r+2 =4
—2 —2
T 2

Date

dr =-3x—7
+3xr =43z

T =-T7

[T =T

r =-1

5 z+1=3x—3
r+1 =3x-—-3

—3z = -3z
—2r+1=-3
—1 =-1
—2x =—4
/=2 =/-=2
T =2

8) —bx = 3x + 32

—5x =3x + 32
—3r =—3z
—8x =32
/—8=/-—8
x =—4

—x =—2x—1
+2x =2z
r =-1

6) —x+3=4x — 17
—x+3 =4z — 17

—4x = —4x
—b5x +3=—-17
-3 =—-3
—o = —20
/-5 =/-5
T =4

Sr = —3x — 32
+3xr =43z

8 =-—32

/8 =/8

r =-4

Period



